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B 6 0 203 2,155 2,299 2,652 3 136 17,606 B 11 0 267 2,138 2,200 2,736 0 136] 16,319
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W 0 0 6,258 5,869 6,031 0 0 66 1,477 W 0 0 6,734 5,231 5,760 0 0 63 1,650
2 6 0 6,461 8,024 8,330 2,652 3 202 19,083 2 11 0 7,001 7,369 7,960 2,736 0 199 17,969
wookE 2,827 33[ 10,236 6,080 3,811 23,512 310 o[ 233,220 ik 2,643 18] 10,068 5,863 3,502 21,428 284 0| 224,583
&l = 2,384 87 5,701 10,720 7,919| 38,669 0 71 90,089 & W= 2,399 63 5,445 10,229 7,307] 38,783 0 21| 85,928
K Bk 271 1 681 169 12,620 3,401 0 29[ 82,534 K Bk 293 1 702 147 11,229 3,242 2 11| 81,429
Moo= 1,767 0 2,938 37 2,710 2,929 1 ol 70,847 M= 1,703 0 2,961 71 1,907 2,668 15 ol 69,951
HoRHER 7,256 122] 26,017| 25,030| 35,390| 71,163 315 238| 495,772 HoRHER 7,048 81| 26,177 23,678 31,906 68,857 301 231| 479,861
4 25,821 4,490| 166,209 135,145 121,562 191,556 5,828 2,834 648,495 4 25,084 4,232| 161,734| 130,971 113,718 187,718 5,638 2,923| 635,409
BP0 KR (%) 0.1 0.0 24.8 32.1 23.5 3.7 1.0 84.9 3.8 P / KR (%) 0.2 0.0 26.7 31.1 24.9 4.0 0.0 86.1 3.7
HRH#E/ 2FH (%) 28.1 2.7 15.7 18.5 29.1 37.1 5.4 8.4 76.4 HR#E/ 2FH (%) 28.1 1.9 16.2 18.1 28.1 36.7 5.3 7.9 75.5
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